Find the zeros of ¥ =5+10co0s@. SCORE: /4 PTS
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Test =3 —5sin@ for symmetry over the polar axis. State your final conclusion clearly. SCORE: ___ /6PTS
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Fill in the blanks.

SCORE:
[a]

/6 PTS
The point with rectangular co-ordinates (0, — 8) has polar co-ordinates ( 8 i 3”'2 ) %l
(Both parts of your answer must be positive.) L
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[b] The point with rectangular co-ordinates (=7, 7) has polar co-ordin [7\[’-2—_\ Az tan L v 71 (O
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Convert the polar equation » = to rectangular form. SCORE: /5PTS
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Simplify your answer so that there are no radicals, complex fractions, fractional exponents nor negative exponents.
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Fill in the blanks. All parts of this question refer to the graph on the right,

[a]

[b]

[c]

!
Point H has polar co-ordinates (-3, 2%).
TR |

Point ;as polar co-ordinates (3, —2%).
et

Point £ has polar co-ordinates (3, [ i (Your answer must be positive.)
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Point /' has polar co-ordinates (—3, _F'_ZI:} ). (Your answer must be negative.)
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SCORE: /4PTS




Convert the rectangular equation xy =8 to polar form. Simplify your answer
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